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Let’s all get this (;(,)rre(;tI 3. Which of the the following is transcrip- r 10. Restriction endonucleases cut DNA at \
this time - use your packet tionally active or is potentially transcnptron- a particular site producing “sticky” ends
ally active: || (single-stranded). For what purpose were |

number not Social Securlt a) meiotic metaphase chromosome || these enzymes evolved: |
Number on your ans er b) heterochromatin r! a) they are not naturally oceuring but 1|
sheet! ¢) euchromatin [ were invented by genetic engineers |

’ d) mitotic chromosomes | b) by prokaryotes to cut exogenous '

. e) anaphase chromosomes of both DNA in small nonfunctional pieces
EIIESL.I? 3""0?1.?:';“9;:? 67576 f mitosis and meiosis c) by plasmids to cut the host cell DNA |
March 24, 2003 - , to facilitate plasmid insertion |
Print your name and Packet 4. Which of these genes lwouid a eukar t{ i| d) by lysogenic viruses to promote /
Identification Number on your TEST| ¢ ¢éll need to have ampilfied: \ | lysogeny .
BLUE ANSWER SHEET. a) histone'genes \ /[ ©) by viruses to cut bacterial host DNA /
Bibkle it YOUR NABE AND Packet b) 5S rRNA genes into small nonfunctional pieces /\,
Number in the appropriate spaces. €) nucleolar genes

11 ~DNA fragments-cut by restriction
endonucleases can be rejoined by the
4 | enzyme:

& middle Initial), 5. The nucleosome core particle is com- | | &) RNA polymerase

Start your Packst

entification d) rRNA genes ;
Number in Box

g) all of these

Name (Last, fir

print please: posed of octamer of proteins. How many | b) DNA polymerase
/ different proteins make this octamer: \ c) DNA ligase
Packet Identification No: { a)1 | d) restriction endonucleases
qf S ‘H b) 2 | e) found in the large ribosome subunit
555: L}IIIQES‘. %‘;ESRH%HEET OVER I 3)] i 12. The dideoxy method of deoxyribonucle-|
TIMES )V ET AT ALL l e)8 | | ic acid sequencing depends on the use of a
/ || pentose sugar that lacks: ,
' |
Your grade will be posted for each \ 6. Where in pine tree cells are polypep- :} :yg;gxy: :: g and 3 !.
examination you take in this course | fides formed: 9 h:droxX:I ot 5 ‘
by the four digit Packet Sinysiens d) all hydroxyls on ribose {
Identifjcation Number on the SIBS b) cytoplasm &) identity to dideoxyribose |
website, www.uh.edu/slibs c) cytoplasm and mitochondria Xy |
gzﬂcﬂcﬁiﬁm- mitochondria and / 13. Methods to insert foreign DNA into "\
. — o i | | cells include which of the following: -
; tiple choice . e) mitochondria and chloroplasts ‘ a) microprojectiles _
|"£ 1 emical mod.fﬁcgt:‘on thgf adats 7. The size of a functioning cytosolic ribo- \ 2; :éﬁ;:&?;:ﬂon I.r
| men ef ag:?suﬁ fo cytosine residues in some| | some of & eukaryote in Svedberg units is: ] d) bacterial transformation f
g S e g; 5‘82 |i o) all of these are methods usedto |
b) amplify the genes ¢) 708 r' Lty |
| 3 :t::::i?etrr: r?s?r;?on d% 802 %J 14, Agrobacterium tyrigTasjens containing |
1 e) 30 il wi y i
A a plasmid with a Ti on (the vector) |
\ e) enhance translation e St Eesi i \ | normally causes c disease in ‘
s | iptase s used 10 pro- \ | piants. What was doré to the vect
, o \| plants. What was doné to the vectorso |
i ﬁcogrgfosome puffs represent a visuali- | | duce; ‘ that it did not cause crown gall disease of |
&) DNA replication 5) RNA fom DNA. A i |
. b) RNA synthesis c; mFlNAmm a) remove the Ti-plasmid from the
Q= g e o o s
| d) translational control of gene expres- e) DNA from proteing
| g L ——

|
\ sion e auxin from the Ti plasmid
! o) cell differentiation 9. DNA, after exposure to restriction \L zlnremove the cell wall from the bacteri-
Ll . endonucleases, is separated by means of \ |

| ; : : d) insert the genes to transform the
el electrophoresis on the basis of: ; S5 : |
( g a) siz eﬁi)f the molecule | Arabidopsis into the plasmid f

\ b) charge of the molecule ) heat kill the bacteria before perform- J.f'
\ ¢) number of strands present in mole- Ing the transformation exercise /
\ cule / \ /
\ d) amount of ribose present N 5
\ e) none of these are correct [ PR



15. A free-living bacterium that lacks a

\}Qr\' ?‘7/

. ey

21, Fungi are classified on the basis of dif-

it

28. Which of these genes would a eukary-

peptidoglycan cell wall and lives in very ferences in: otic cell need to have amplified:
high salt concentrations would be placed in a) cell wall composition a) histone genes
the: \ b) modes of nutrition b) 58 rRNA genes

a) Eubacteria
b) Archaebacteria

) ¢) reproductive structures
d) mode of locomotion

¢) nucleolar genes
d) rRNA genes

c) Cyanobacteria e) size e) all of these
d) Eukaryota
@) Protista 22. A fungal cell that contains two geneti- 29. The nucleosome core particle is com-
| cally dissimilar haploid nuclei is known as posed of octamer of proteins. How many
16. An organism with a region of the cyto- a: different proteins make this octamer:
plasm containing DNA strands about 2 nm a) mycelium a
in diameter and possessing a cell wall par- b) hypha b) 2
tially composed of peptidoglycan would ¢) gametangium c)3
belong to the: d) heterokaryon d) 4
a) Eukaryota e) zygote e)8
b) Eubacteria
¢) Fungi 23. Most fungi send out cellular filaments 30. Where in pine tree cells are polypep-
d) Protista called: tides formed:
e) Archaea a) mycelia a) nucleus
b) hyphae b) cytoplasm
17. Viruses are not classified as living cells ¢) mycorrhizae ¢) cytoplasm and mitochondria
because they: d) asci d) cytoplasm, mitochondria and
a) some contain RNA as their genetic e) gills chloroplasts
material e) mitochondria and chloroplasts

b) cannot reproduce outside a living cell
¢) some can be crystallized

d) lack of cytoplasm

e) a-d are all correct

18. Which of the following does a

24. Most imperfect fungi are what type of
fungi:
a) ascomycetes
b) basidiomycetes
¢) yeasts
d) water molds

|

31. The size of a functioning cytosolic ribo-
some of a eukaryote in Svedberg units is:
a) 408
b) 50S
¢) 708

Mycoplasma sp. cell lack: § ws d) 80S )
a) peptidoglycan oS ' €) 308 _J—/\
b} pDNp; gy 25. A chemical modification that adds e \

¢) plasma membrane
d) membrane that conforms to the

methyl groups to cytosine residues in some
genes acts to:

B2. Reverse transcriptase is used to pro-
duce:

Singer-Nicholson fluid mosaic model a) inactivate genes | @) cDNA from RNA
g) proteins in its plasma membrane b) amplify the genes | b) RNA from DNA
¢) stabilize the mRNA | ¢) mRNA

19. The fungal partner that is lichenized is
usually a(n):
a) slime mold

d) enhance transcription
e) enhance translation

_f d) proteins from BNA_—————— L

___a) DNAfrom proteins
X

\
\

o

\
\,

b) basidium producing fungus

I ‘ %.33. Restriction endonucleases cut DNA at |
c) ascomycete \ . |

|

|

| a particular site producing “sticky” ends \
j (single-stranded). For what purpose were '

| a) DNA replication
| | b) RNA synthesis |
. | c)alternate processing iy
d) translational control of gene expres- |/
sion
e cell differentiation

d) fungus that is never dikaryotic

e) fungus belonging to the fungal divi-
sion that is characterized by the pro-
duction of basidiocarps (or structures
commonly called mushrooms)

these enzymes evolved:

a) they are not naturally occuring but

were invented by genetic engineers ‘i
b) by prokaryotes to cut exagenous |
DNA in small nonfunctional pieces |
c) by plasmids to cut the host cell DNA |
to facilitate plasmid insertion /

d) by lysogenic viruses to promote

/
‘n
20. Mycorrhizae are: ‘

a) slime molds that cause root damage |
b) basidiomycete and zygomycete fungi

27. Which of the the following is transcrip-
tionally active or is potentially transcription-

that live symbiotically with land plant |- ally active: |¥5°99'_W _

roots a) meiotic metaphase chromosome ' e) by viruses to cut bacterial host DNA
c) a disease causing fungal pathogen | | b) heterochromatin I} into small nonfunctional pieces .

d) wood rotting fungi | ©) euchromatin .' L

e) fungal-algal associations, e.g., l' d) mitotic chromosomes ;‘ \ e

lichens e) anaphase chromosomes of both / "

mitosis and meiosis /
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~

| 34. DNA, after exposure to restriction

. 40,

endonucleases, is separated by means of |

gel electrophoresis on the basis of: ¥
1]
!

a) size of the molecule

b) charge of the molecule

¢) number of strands present in mole-
cule

d) amount of ribose present /

endonucleases can be rejoined by the
enzyme:

a) RNA polymerase

b) DNA polymerase

c) DNA ligase

d) restriction endonucleases

g) found in the large ribosome subunit

36. The dideoxy method of deoxyribonucle- |

ic acid sequencing depends on the use of a
pentose sugar that lacks:

a) hydroxyl at 2'

b) hydroxyl at 2’ and 3'

¢) hydroxyl at &’

d) all hydroxyls on ribose

e) identity to dideoxyribose

37. Methods to insert foreign DNA into
cells include which of the following:

a) microprojectiles

b) electroporation

c) transfection

d) bacterial transformation

e) all of these are methods used to

insert DNA

38. Agrobacterium tumefaciens containing
a plasmid with a Ti tramsposon (the vector)
normally causes crown gall disease in
plants. What was done to the vector so
that it did not cause crown gall disease of
Arabidopsis thaliana?

a) remove the Ti plasmid from the

Agrobacterium tumefaciens

b) remove the gehes for cytokinin and

auxin from the Ti plasmid

c) remove the cell wall from the bacteri-

um

d) insert the genes to transform the

Arabidopsis into the plasmid

¢) heat kill the bacteria before perform-

——

mitochondria arose a long time ago from: |
a) cyanobacteria

b) ascomycetes
¢) basidiomycetes
d) purple non-sulfur bacteria  /

¢) chloroplasts

| none of these are correct "'-..\I
35. DNA fra fon

39, Evolutionary biologists beﬁeve_ﬁ;ahr'l*j

U —
I ——

The sukaryotic plant cell is thought to
. have arisen by serial endosymbiotic events
.) invelving the capture of:

a) anaerobic bacteria and photosyn-

thetic anaerobic bacteria

b) aerobic bacteria and cyanobacte-

'y

¢) mitochondria and chloroplasts

.-’\\
1. InecaTsigna
[41. In the cell signaling process termed

| indirect signal transductionwhat mediates
f the interaction between receptor binding
and cellular reactions:

a) ligand

b) receptor

c) protein kinase

d) second messenger

8) G-protein linked receptor

42. The recepior for the stercid ligand cor-
tisol when it combines with cortisol is:
/| a) atransmembrane protein in the plas-
[ ma membrane
] b) a protein in the nuclear interior
1 c) a cytosolic protein
d) a protein in the membrane of the
‘| Golgi body cisternae
{ e) a protein in the membrane of the
\ endoplasmic reticulum

| 43, Which of the following is not a second
messenger:

| a) cyclic AMP

| b) a lipid derived substance or phos-
photidylinositol

c) diacylglycerol

d) calcium ions

e) epinephrine

|
4!4. Which of the following directly plays
amplification role in cell signaling:
\ &) chaperone
b) membrane receptor
¢) cytoplasmic receptor
| d) protein kinase
| e) growth factor

45, Which of the following is an inorganic
second messenger operative in multicellu-
lar animals:

a) ethylene

b) nitric oxide

c) cortisol

d) cyclic AMP
e) epinephrine

[, 46. Which of the following Is involved in )

d) mitochondria :
e) ch!oroplasts///

direct intercellular communication of multi- ‘\
'\ cellular animals:
a) plasmodesmata )
b) gap junctions ‘
¢) calcium fons
d) nitric oxide
@) cyclic AMP I

47. Which of the following is not a plasma |

membrane receptor: F
a) ion channels !
b) protein kinases !
c) G-protein linked receptors i
d) desmotubule }
e) transmembrane protein that has a
site for an extracellular ligand

'48. In the proposed pattern of endosym-

biosis leading to an eukaryolic algae, e.g., |

a dinofiagellate or an euglenid, which of the |

following steps involved capture of a \

prokaryote: |

a) primary endosymbiosis i

b) secondary endosymbiosis

c) tertiary endosymbiosis ;

d) primary and secondary but not terti-

ary endosymbiosis !

e) all endosymbiotic events |

—_—  ———— |
49. A myxamoeba is a cell type that occurs |
in which of the following:

- a) dictyostelids

b) diatoms

¢) foraminiferans

d) radiolarians

e) choanoflagellates

M
50. What kind of life forms control the
nitrogen cycle (give most inclusive answer):
a) Prokaryota
b) Eukaryota
¢) Archaea
d) pathogenic bacteria
e) Eubacteria
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: e cell signaling process termed
indirect signal transductionwhat mediates
the interaction between recepior binding
and cellular reactions:

a) ligand

b) receptor

c) protein kinase

d) second messenger

e) G-protein linked receptor

2. The receptor for the steroid ligand corti-
sol when it combines with cortisol is:

ma membrane

b) a protein in the nuclear interior
¢) a cytosolic protein

| d) a protein in the membrane of the
\ Golgi body cisternae

; ¢) a protein in the membrane of the
‘ endoplasmic reticulum
|

|

|

3. Which of the following is not a second
messenger:

a) cyclic AMP

b) a lipid derived substance or phos-
. photidylinositel
\ c) diacylglycerol
. d) calcium ions
&) epinephrine

d) cyclic AMP
€) epinephrine

6. Which of the following is involved in
direct intercellular communication of multi-
cellular animals:

a) plasmodesmata

b) gap junctions

c) calcium ions

d) nitric oxide

a) a transmembrane protein in the plas-

e) cyclic AMP

7. Which of the following is not a plasma
membrane recepior:

a) ion channels

b) protein kinases

¢) G-protein linked receptors

d) desmotubule

e) transmembrane protein that has a
site for an extracellular ligand

8. In the proposed pattern of endosymbio-
sis leading to an eukaryotic algas, e.g., a
dinoflagellate or an euglenid, which of the
following steps involved capture of a
prokaryote:

a) primary endosymbiosis

b) secondary endosymbiosis

c) tertiary endosymbiosis

d) primary and secondary but not terti-
_ ary endosymbiosis

\, €) all endosymbiotic events

9. A myxamoeba is a cell type that occurs
in which of the following:
a) dictyostelids

b) diatoms

¢) foraminiferans

d) radiolarians—
«8) choanoflagellates

0. What kind of life forms control the
nitrogen cycle (give most inclusive answer):
a) Prokaryota

b) Eukaryota

¢) Archaea

d) pathogenic bacteria
e) Eubacteria

¢) cortisol j

11. A chemical medification that adds
methyl groups to cytosine residues in some
genes acts to:

-a) inactivate genes

b) amplify the genes

¢) stabilize the mRNA

d) enhance transcription

) enhance translation

12. Chromosome puffs represent a visuali-
zation of:

a) DNA replication

b) RNA synthesis

c) alternate processing

d) translational control of gene expres-

sion

e) cell differentiation

~ 13. Which of the the following is transcrip-

tionally active or is potentially transcription-
ally active:

a) meiotic metaphase chromosome

b) heterochromatin

¢) euchromatin

d) mitotic chromosomes

e) anaphase chromosomes of both

mitosis and meiosis

14. Which of these genes would a eukary-
otic cell need to have amplified:

a) histone genes

b) 5S rANA genes

¢) nucleolar genes

d) rRNA genes

e) all of these

15. The nucleosome core particle is com-
posed of octamer of proteins. How many
different proteins make this octamer:

a) 1

b) 2

c)3

d) 4

e)8

16. Where in pine tree cells are polypep-
tides formed:

a) nucleus

b) cytoplasm

c) cytoplasm and mitochondria

d) cytoplasm, mitochondria and

chloroplasts

e) mitachondria and chicroplasts

\17. The size of a functioning cytosolic ribo-
Poms of a eukaryote in Svedberg units is:

| a)408

b) 508

¢) 708

d) 808

) 30S



18. Reverse transcriptase is used to pro-
duce:

a) cDNA from RNA

b) RNA from DNA

¢) mRNA

d) proteins from RNA

e) DNA from proteins

19. Restriction endonucleases cut DNA at
a particular site producing “sticky” ends
(single-stranded). For what purpose were
these enzymes evolved:
a) they are not naturally occuring but
were invented by genetic engineers
b) by prokaryotes to cut exogenous
DNA in small nonfunctional pieces
¢) by plasmids to cut the host cell DNA
to facilitate plasmid insertion
d) by lysogenic viruses to promote
lysogeny
e) by viruses to cut bacterial host DNA
into small nonfunctional pieces

20. DNA, after exposure io restriction
endonucleasss, is ssparated by means of
gel electrophoresis on the basis of:

a) slze of the molecule

b) charge of the moleculs

¢) number of strands present In mole-

cule

d) amount of ribose present

@) none of these are correct

21, DNA fragments cut by restriction
endonucleases can be refoined by the
enzyme:

a) RNA polymerase

b) DNA polymerase

¢) DNA ligase

d) restriction endonucleases

e) found In the large ribosome subunit

22, The dideoxy method of deoxyrlbonucle-
lc acld sequencing depends on the use of a
pentose sugar that lacks:

a) hydroxyl at 2'

b) hydroxyl at 2' and 3'

¢) hydroxyl at 5'

d) all hydroxyls on ribose /

e) identity to dideoxyribose {

23, Methods to Insert forsign DNA Int
cells Include which of the following:

a) micropro|ectlies

b) electroporation

¢) transfection

d) bacterial transformation

e) all of these are methods used to

insert DNA

y

JoL L. V'L

24. Agrobacterium tumefaciens containing
a plasmid with a Ti tramsposon (the vector)
normally causes crown gall disease in
plants. What was done to the vector so
that it did not cause crown gall disease of
Arabidopsis thaliana?

a) remove the Ti plasmid from the

Agrobacterium tumefaciens

b) remove the genes for cytokinin and

auxin from the Ti plasmid

c) remove the cell wall from the bacteri-

29. Which of the following produced an
aerobic environment on the earth’s surface:
a) bacterial photosynthesis
b) glycolysis
c) cellular respiration
d) eyanobacterial photosynthesis
@) photosynthesis by eukaryotes

30. Ribozyme action suggests that the first
cells on earth had a genome (molecule(s)
that holds genetic information) based on:

um a) DNA
d) insert the genes to transform the b) RNA
~  Arabidopsis into the plasmid c) proteins
e) heat kill the bacteria before perform- d) lipids PR
ing the transformation ise _e) carbohydrates —

31. Therprigin of mitochondria decurred
after the o
" because:

a) earth

25. Evolutionary biologists believe that

mitochondria arose a long time ago from:
a) cyanobacteria

b) ascomycetes

c) basidiomycetes

d) purple non-sulfur bacterla

@) chloroplasts

—

c)b y arose after
autgtrophy /
28. The eukaryotic plant cell Is thought to . g /
have arisen by serial endosymbiotic events 5 dr:retahollsm evolved In veverse /
involving the capture of: y
a) anaeroblc bacterla and photosyn- ) because Tf t:’ preTenoe of ‘h" /'/
thetic anaerobic bacterla o0ne layerin the eary ‘“““L’?f
ﬁ)aaeroblc bacterla and cyanobacte- 2. The 7 of mation-used by the

foraminifara, the heliczoa, and the radiolar-

¢) mitochondria and chioroplasts ials:

¢d) mitochondria

a) cilia
e) chloroplests b) flagella
o7 23 catalyli ¢) gliding motilty
capacities and may have been the earllest d) no motilon
form of genetic information In what ever e) amoebold

was the “sarllest” cell:
a) anzymes
b) DNA
¢) polypeptides
d) proteins
e) FI’N_@%_

P -, o

28. The orlgin of mitochondria occurred

after the orlgin of the cyanobacferfa\

bacause: \
e) earth was at first an anoxic envi- \
ronment ’.
b) the early earth had an aerobic
environment ’
¢) because heterotrophy arose after ,
autotrophy )
d) metabolism evolved In “reverse”  /
order /

e) because of the presence of an
ne layer in the early aimosphere

33. In one group of protozoans all the
species are parasitic. Which one is it:
a) Sarcomastigophora
b) Clliophora
¢) Myxomycota (acellular slime molds)
d) Acraslomycota (cellular slime molds)
) Sporozoa
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36. What kind-of life forms €ontrol the
nitrogen cycle (give mostinclusive answer):

34. Which one feature can be used to
characterize broadly the major groups of
heterotrophic Protista:
a) type of organelles
b) presence or absence of plastids
¢) Gram stain
d) presence or absence of nucleus
e) mechanism of locomotion
385. The least mobile prolistans include:
a) euglenids
b) ciliates
c) sporozoans
d) dinoflagellates

a) Prokaryota
b) Eukary
¢) Archagéa
d) pathogenic bacteria
e) Eubacteria P
o ____,,__.-—-"'_’-.,./
37. Possession of a protein cytoskeleton
of microtubules, microfilaments and inter-
mediate filaments would be characteristic
of which of the following.

a prokaryotes

b) eukaryotes

¢) possessed by both of the above lev-

els of organization

d) a trait of viruses

38. Which of the following characteristics
can be used to distinguish between the
two domains (Eukaryota and Prokaryota):
a) DNA Is the genetic material
b) protein synthesis involving ribosomes
¢) the cell is enclosed by a cell wall
d) the flagellum if present is composed
of microtubules
e) gradients of protons as the driving
force for ATP synthesis

39. A free-living bacterium that lacks a
peptidoglycan cell wall and lives in ve
high salt concentrations would be placed\in

the: \
a) Eubacteria i
b) Archaebacteria /
¢) Cyanobacteria
d) Eukaryota

\e} Protista

\,
\,
N,

. An organism with a region of the cyto-
lasm containing DNA strands about 2 nm

long to the:

iruses are not classified as living cell:
use they:
) some contain RNA as their genetic
aterial
) cannot reproduce outside a living cell

\ ) some can be crystallized

5 d) lack of cytoplasm
| /) a-d are all correct

e

. Which of the following does a
ycoplasma sp. cell lack:
a) peptidoglycan
b) DNA
| ¢) plasma membrane
' L d) membrane that conforms to the
!

Singer-Nicholson fluid mosaic model

g) proteins in its plasma membrane
o

43. Penicilli intarfers with the synthesis of |

peptidoglycan cell wall of the bacteria by: |
a) resembling the substrate that the
transpeptidization enzyme interacts with
b) being incorporated into the bacterial
cell wall
c) resembling the N-acetylgiucosamine
residues

d) inhibiting early steps in the polysac- |

charide formation /

e) osmotic rupture of the cell ,
44, Fungi obtain their nutrients by: '
a) photosynthesis \
b) phagocytosis
c) ingestion
d) absorption
e) chemaosynthesis

et

45. The fungal partner that is lichenized is

usually a(n):
a) slime mold
b) basidium producing fungus

1 ¢) ascomycete

d) fungus that is never dikaryotic
e} fungus belonging to the fungal divi-
sion that is characterized by the pro-
duction of basidiocarps (or structures
commonly called mushrooms)

4

'50. Most imperfect fungi are what type of |

46. Mycorrhizae are:
a) slime molds that cause root damage
b) basidiomycete and zygomycete fungi
that live symbiotically with land plant
roots
¢) a disease causing fungal pathogen
d) wood rotting fungi
e) fungal-algal associations, e.g.,
lichens

47. Fungi are classified on the basis of dif-
ferences in:

a) cell wall composition

b) modes of nutrition

¢) reproductive structures

d) mode of locomotion

e) size

48. A fungal cell that contains two geneti-
cally dissimilar haploid nuclei is known as
a:
a) mycelium |
b) hypha |
¢) gametangium '
d) heterokaryon
€) zygote

49. Most fungi send out cellular filaments
called:

a) mycelia

b) hyphae

¢) mycorrhizae

d) asci

e) gills

fungi: /
a) ascomycetes
b) basidiomycetes
c) yeasts
d) water molds
@) zygomycetes
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¢) ingestion /
d) absorption |
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6. n used by the |

1
|
| ;
| trami -
foraminifera, the heliozoa, and the radmu'arI F\G“Péﬁfémmﬁﬁrfe—hmﬁfﬁéds’}mhesis 2
\ fa fsa) cilia i ; peptfdogfycan cell wall of the bacteria by:

[ | a)resembling.the substrate that the

' b) flagella ! |
l ¢) gliding motiity ; transpeptidization enzyme interacts with |

i | P b) being incorporated into the bacterial
capacities and may have been the earliest || 9 MO mo;llt.}dn |/ cellwall ‘ {
form of genetic infofmation in what ever || €) amoeboi \ / ¢) resembling the N-acetylglucosamine |
was the “earliest’ cell: ' \[ residues

a) enzymes :p;;:::rg’::fagﬂf;’“%‘f::i :g f:j’t \K d) inhibiting early steps in the polysac-  /
b) DNA . )
c)] polypeptides a) Sarcomastigophora 1 Chi:t:fu:?cr Tusglﬁ:]e of the cell
d) proteins b) Ciliophora M e ——

r

|'
/ o) Myxomycota (acelular siime molds) |\ 14, Which of the following characteristics
d) Acrasiomycota (cellular slime molds) \ can be used to distingulsh between the
2. The origin of mitochondria occurred
after the origin of the cyanoba cteria
because:
a) earth was at frst an anoxic envi-

e) Sporozoa || two domains (Eukéryota and Prokaryota):

a) DNA is the genetic material

B. Which one feature can be used to char- I\ b) protain syn‘hasL mw]vmg ribosomes

aCfBﬂZ& broadly the major groups of het- ¢) the cell is enclosed by a cell wall

\k  ronment y _ 9f0?f’Othf-‘ Protista: - {  d) the flagellum if present is composed
b) the early earth had an aerobic ' \ a) type of organelles '\ of microtubules |
environment . | b) presence or absence of plastids /| e) gradients of protons as the driving ;}
¢) because heterotrophy arose after | |  c) Gram stain /| force for ATP synthesis /
autotrophy ' | d) presence or absence of nucleus /| / .
d) metabolism evolved in “reverse” @) mechanism of locomotion 4 /
order J /
&) because of the presence of an \-_/ / ,/’/
ozone layer in the early almosphere T———
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15. Evolutionary biologists believe that |/ 20. Ribozyme action suggests that the first
mitochondria arose a long time ago from: l cells on earth had a genome (molecule(s)
a) cyanobacteria - that holds genetic information) based on:
b) ascomycetes a) DNA |
c) basidiomycetes b) RNA .
d) purple non-sulfur bacteria i c) proteins
&) chloroplasts L | d) lipids |

L e) carbohydrates

have arisen by serial endosymbiotic events | 21. The origin of mitochondria occurred
‘ involving the capture of: »‘l after the origin of the cyanobactefia
! a) anaerobic bacteria and photosyn-

thetic anaerobic bacteria
; b) aerobic bacteria and cyanobacte- |
\ ria
\ ¢} mitochondria and-chloroplasts
d) mitochondria

chloroplasts
boteblol sty

17. Which of the following has catalytic
capacities and may have been the eariiest
form of genetic information in what ever
was the “earliest” cell: -

&) because of the presenceof an
e~ “ozone layer in the early atmosph

a) enzymes 22. The mechanis motion used by the
b) DNA foraminifera, the heliozoa, and the radiolar-
| ¢) polypeptides /| lais:
IS d) proteins ' ‘.H a) cilia
. ' b) flagella
E , ) \ c) gliding motility
18. The origin of mitochondria occurred d) no motiion
after the origin of the cyanobacteria ‘l amoeboid
because: Wa

\

a) earth was at first an anoxic envi- \ 23-_ In one group o ans all the \
ronment | | species are parasitic. Which one s it: |
b) the early earth had an aerobic | \ a) Sarcomastigophora :
environment | | b)Ciliophora ‘
¢) because heterotrophy arose after | l'. c) Myxomycota (acellular slime molds) | 'l
\ autotrophy . . \| d)Acrasiomycota (cellular slime molds} ‘
\ :)rdn;ftabohsm evolved in “reverse #\E) Sporozoa ) ‘
1 T \

. e) because of the presence of an /24. Which one feafuré cambe-usedto | /
“..0zone layer in the early atmosphere 1\ characterize broadly the major groups of |
heterotrophic Protista: ~ ~ ;' f

a) type of organelles

b) presence or absence of plastids

¢) Gram stain

d) presence or absence of nucleus

) mechanism of locomotion v4

19. Which of the following produced an
aerobic environment on the earth’s surface:
a) bacterial photosynthesis
b) glycolysis
¢) cellular respiration
d) cyancbacterial photosynthesis
e) photosynthesis by eukaryotes

e 4 \\r/ |

| 16. The eukaryotic plant cell is thought to \ f EE———— ¢

s

—_ )

25. In the cell signaling process termed
indirect signal transductionwhat mediates
the interaction between receptor binding
and cellular reactions:

a) ligand x s

b) receptor

¢) protein kinase V
d) second messenger

e) G-protein linked receptor

26. The receptor for the steroid ligand cor-
tisol when it combines with cortisol is:
a) a fransmembrane protein in the plas-
ma membrane
b) a protein in the nuclear interior
¢) a cytosolic protein
d) a protein in the membrane of the
Golgi body cisternae
) a protein in the membrane of the
endoplasmic reticulum

27. Which of the following is not a second

messenger:
a) cyclic AMP
b) a lipid derived substance or phos-
photidylinositol
c) diacylglycerol
d) calcium ions
e) epinephrine

[
28. Which of the following directly plays an

amplification role in cell signaling:
a) chaperone
b) membrane receptor
c) cytoplasmic receptor
d) protein kinase
&) growth factor

29. Which of the following is an inorganic
second messenger operative in multicellu-
lar animals:

a) ethylene

b) nitric oxide

¢) cortisol

d) eyclic AMP

e) epinephrine

30. Which of the following is involved in
direct intercellular communication of mufti-
cellular animals:

a) plasmodesmata
b) gap junctions- =
¢) calcium ions
d) nitric oxide
e) cyclic AMP

T —




31. Which of the following is not a plasma
membrane receptor:

a) ion channels

b) protein kinases

¢) G-protein linked receptors

d) desmotubule

e) transmembrane protein that has a
ite for an extracellular ligand

|/ 38. Which of the following charagteristics
1 can be used to distinguish between the
' two domains (Eukaryota and Prokaryota):
a) DNA is the genetic material

c) the cell is enclosed by a cell wall

d) the flagellum if present is composed
of microtubules

e) gradients of protbns as the driving
force for ATP synthesis

32. In the proposed pattern of endosym-
biosis leading to an eukaryotic algae, e.g.,
a dinoflagellate or an euglenid, which of the
following steps involved capture of a
prokaryote:

a) primary endosymbiosis

b) secondary endosymbiosis

a) resembling the substrate that the

b) being incorparated into the bacterial

¢) tertiary endosymbiosis cell wall
d) primary and secondary but not terti- c) resembling the N-acetylglucosamine
ary endosymbiosis residues

e) all endosymbiotic events d) inhibiting early steps in the polysac-
charide formation

e) osmotic rupture of the

33. A myxamoeba is a cell type that occurs

in which of the following: '
a) dictyostelids f 40. A iving bacterium that lacks a
b) diatoms peptidoglycan cell wall and lives in very

c) fcraminirarans‘

d) radiolarians

) choanoflagellates
__"“'_'--u_.__

high salt concentrations would be placed in
the:

a) Eubacteria
b) Archaebacteria %
¢) Cyanobacteria

d) Eukaryota

34. What kind of life forms control the
nitrogen cycle (give most inclusive answer):

a) Prokaryota . / e) Protista
! b) Eukaryota ;
\ c) Archaea 41. An organism with a region of the cyto-
“_-. @) pathogenic bacteria plasm containing DNA strands about 2 nm
e) Eubacteria in diameter and possessing a cell wall par-

tially composed of peptidoglycan would

35. The least mobile protistans include: belong to the:

a) euglenids a) Eukaryota

b) ciliates b) Eubacteria

¢) sporozoans ¢) Fungi %
d) dinoflagellates d) Protista

p) fla 6) Archaea

42, Viruses are not classified as living cells
ecause they:

a) some contain RNA as their genetic
material

b) cannot reproduce outside a living cell
¢) some can be crystallized

d) lack of cytoplasm g

e) a-d are all correct

of microtubules, microfilaments and inter- . Which of the following does a
mediate filaments would be characteristic \ ycoplasma sp. cell lack:
of which of the following. '] a) peptidoglycan

a prokaryotes / b) DNA - %

b) eukaryotes f c) plasma membrane

c) possessed by both of the above lev- j \ d) membrane that conforms to the

els of organization /
d) a trait of viruses

Singer-Nicholson fluid mosaic model
e) proteins in its plasma membrane

.
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b) protein synthesis involving ribosomes

transpeptidization enzyme interacts with

4, The fungal partner that is lichenized is
usually a(n):

i a) slime mold

| b) basidium producing fungus C/

| ¢) ascomycete

| d) fungus that is never dikaryotic
e) fungus belonging to the fungal divi-
sion that is characterized by the pro-
/ duction of basidiocarps (or structures
commonly called mushrooms)

a) slime molds that cause root damage
b) basidiomycete and zygomycete fungi
that live symbiotically with land plan
roots o?
¢) a disease causing fungal pathogen
d) wood rotting fungi

e) fungal-algal associations, e.g.,
lichens

48. Fungi are classified on the basis of dif-
rences in:

a) cell wall composition
b) modes of nutrition
c) reproductive structures

d) mode of locomotion
e) size

47. A fungal cell that contains two geneti-
cally dissimilar haploid nuclei is known as
a:

a) mycelium

b) hypha

¢) gametangium

d) heterokaryon

e) zygote

48. Most fungi send out cellular filaments
called: -

a) mycelia _

b) hyphae %

c) mycorrhizae

d) asci

e) gills

49. Most imperfect fungi are what type of

fungi:
a) ascomycetes
b) basidiomycetes
c) yeasts

d) water molds
\&gﬂm

50. Fungi obtain their nutrients by:
a) photosynthesis
b) phagocytosis /
¢) ingestion_ !

d) absorption /

8) chemosynthisis/,




